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By one more than the previous one.
gt A o O g Afm 3 H Q)
Allfrom nine and last from ten.

@Y (w2) 3R s <l gehr ||
Vertically and Crosswise.
TEITI0T T ITATT L

Transpose and apply.

Y= GHME g W I BIal 2

When the 'Samuchaya's are the same, that
'Samuchaya'is zero.

STETAT B TR T I Bl 2
If oneisinratio, the other oneis zero.
EIECTEC RCICy

By addition and subtraction.

31991 =l 901 T |

By completing.

T o G

By Calculus

a1 v § ereifq famrem

The Deficiency

Tk i Ui TR g i T T g
Whole asone and one as whole.
3ifaH 31k | 3Ta9y ol |
Remainder by the last digit.

atfam IR Suifas =1 ST
Ultimate and twice the penultimate.
TEel | TH Y & 5N

By onelessthan the Previous one.
U7l =1 A=A

The whole Product.

TR h1 FH==A |

Set of Multipliers.
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1. SAE@ - 891 % g
Proportionately.
2. Toread sroE: - o9 U 99 HEd B

The remainderis the constant
el i Ugdl W, 3ifaw ki 3ifaq 9
First by the firstand last by the last.

3. SATIHEATTHIA

4. Hdel: uh oA - &%, 9,AY 7 HION R
Multiply 'ka' (1), 'va' (4), 'la' (3) by 7 (Formula
for1/7).
5. 9%Aq - faursHtad wdeon st e faferse e =6 am
;I'er;?)osculation. (A method for divisibility
6. TS qragTH - 9 % Sa SR HA|
What ever deficiency further lessen that
much.
7. ATEA AregAged o - S 9 Sa iR wH i ol i A o
o st )
Lesser by the deficiency and add its square.
8. STIARIEhsTy - sifqw st =1 =M 34
Sum of last digits is ten.
9. IT<IIART - %had AT gNl
Only by the last.
10. FH=EAOG: - WY U
Product of whole.
11. SIS - et Ta e gl
By Elimination and retention.
12. foeterq - IR g
By observing.
13. e G - T[T % THE! S UG 1R R o TOTR
I AT THH 2
Product of the whole is equal to whole of the
) product.
31 Tafyre waheanmg -
1. gsam - gIai#HS | (Duplex)
2. IS - 3TfEa ATl (Purity)
3. =slish - ®d % T &1 36| (Flag digit)
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(Indian Mathematician-Swami Bharti Krishan Tirth)

ERlED faea TS shilch

1. STk JTd AT T sisTieh GRI ST bl = LT 5
(Beejank and Check by Beejank)

2. 10
(Multiplication (Ekanyunena Purvena)

3. A (ST 12
(Multiplication - Sutra-Urdhvatiryagbhyam)

4. ToH (F-TAfEem) 14
(Multiplication-Sutra-Nikhilam)

5. AN (- &SR ) 21
(Division-Sutra-Dhvajank)

6. o (TRITERT gE) 26
(Square-Ekadhikena Purvena)

7. e geTHer 9 28
(Decimal Fraction)

8. T HHIHTT T A 30
(Solution of Simple Equation)

9. SSfuTd T o 32
(Algebraic Multiplication)

10. EISHIEGiR] 34
(Algebraic Factorization)

11. ST o Hedd HTIEe 38
(H.C.F.inAlgebra)

12. gafhfa 40
(Mensuration)

13. ¥ A S 43
(Cube and Cuboid)

14. AT TIOTd-HRTe = 46
(Indian Mathematician-Mahaviracharya)

15. TR TIOTd-SATHT AR Hoo7 aiied 51
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37— stk ATd Sh{AT a2l Sistieh

ERT STX ht ST AT
Chapter - 1 Beejank and check by Beejank

1.1 drelieh ;- fordt G &1 siSlish I i & fau S9 9@ & 3ahl ol
I 576 ek hd & el ek Ueh 3k YT &l S|

1.1 Beejank : The sum of a the digit of a number into a single digit is known

as Beejank
SETETUT 1 :- 10,21, 321, 78 & Sislieh A1 hifIg)|
TA - 10 HIESH 1+0 = 1
21 ST &Stk 2+1 = 3

321 <RI SiTStish 3+2+1 = 6
78 T &ISlieh 7+8 = 15 T&T 15 U g7 & il sfisiieh =&l 7d: Theh 3Aeh
I qA: SIS 145 = 6
Example1: Findthe Beejankof10,21,321,78
Solution: Beejankof10=1
Beejank of 21 =2+1=3
Beejank of 321 =3+2+1=6
Beejankof 78=7+8 =15 =1+5=6

ISTELUT 2 :— 7 8 6 5 Th SISTioh AT Shiflu|

Example 2: Findthe beejank of 7865.

TA - T+8+6+5 —> 26 —>2+6 —> § |ISlh
Solution :Beejank of 7865 =7+8+6+5=2+6=8

Hehd 1. SET SISieh G hid THA T 3Tk U &l 98] qid SSeht Tk e I
T T AMfel

Hint: Iftheresultis two numberthen add the digit again to find the beejank.

2. YA SR A HI S A Bigd @ dietieh § g TR Tl @
By adding or subtracting 0 and 9, the beejank is unaffected.
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3. fordt G o1 distieh 39 9= H 9 ¥ 9N 24 W o= 91 (W) &
ST Bl 21 sSieh T e o 1ef § 39 9 § 9 | 9T <4 W foRa
Y = I A AT

To dividing a number by 9 the remainder is its beejank. To find the
beejank means what will be remainder when a number is divided by 9.

4. Tomdh Gem o s 9?1 ord: 9 9 | gh-qd fawifaa enfh

If beejankis 9, it means the whole number is divisible by 9.

5. it (9 @ 3IW) Hifes € A T 2|
To find the beejank orally.

6. ISl (9 ¥ W) ¥ I HI S Rl S Gehall 2, 3Td: TH ...... Y
AT TIfeu|

To check the answer by beejank

3BT 3 :- 3241 3H G&AT 1 9 H 9T 3 T foheT1 29 s=rm?
Example 3: Whatwill be the remainder when 3241 is divided by 9?

TA - 3241 W ASE 3424441 —> 10 —> 1+ 0 —> | THHT aeliah 1 2
A TH AT H 9 § 9FT < WY 1 =

Solution : Beejank of 3241 is 3+2+4+1=10=1+0 = 1. So when 3241 is divided
by 9 the remainderis 1.

SHMH HIAT / EXERCISE-1.1

Trfafad S=st § 9 | 9RT 21 W) Tohd=T 99 5= ¢ -

Find the remainder when divided by 9 in the following numbers :

(1) 32 (2) 44 (3) 47 (4) 58
(5) 170 (6) 87 (7) ... (8) 999
(9) 4567 (10) 2372
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HEMH AT / EXERCISE-1.2

TreAfefiaa § @S- o G@d 9 A faurfoa g &1
Which number is divisible by 9 in the following numbers.

(1) 234 (2) 456 (3) 535 (4) 9999 (5) 197
(6) 581 (7) 901 (8) 1234 (9) 3272 (10) 2322

1.2 Sistich gRT 39 ol ST :-
I &S & siSlichl o T ST T Sislich sIeR &1 i ST T&l B

1.2 Answercheckby beejank method
The answer is correct if sum of beejank of numbers is equal to beejank of

answer.

3ATET 4 :- St o
Sitg 1 ST et w1 ST & A i
& «islish

4+6+6 —> 16 >1+6 > 7
I :- 691 KT SSlich

6+9+1 —> 16 >1+6 > 7

FIfq S T B
Example 4 Check:
Numbers Beejank Beejank of sum of beejank of numbers
3 4 6 4 4+6+6=16=1+7=7
Beejank of answer 691
222 6 6+9+1=6=1+6=7
+ 123 6 Both beejanks are equal. It means answer is
6 9 1 7 correct
TS Rl Aol ;-
3QEI0T 5 - e AiSE Gy .-
78 17
- 3251 7o o
45 6|6 3L Rl d[SIleh i~ 4+5+6 = 15, 1+5 =6
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Check method for subtraction

Example 5 Check
Numbers Beejank 7-1=6
7 8 1 7 Beejankofanswer=4+5+6=15, 1+5=6
-3 25 1
456 | 6

TUT Skt AT :- AR YT HeA H1 sieiich x fgda WA a1 sisiieh quewe
fiTish sReR & df 3 Wt 2
Check method for multiplication : If beejank of (Beejank first number x

beejank of second number) is equal to beejank of answer then answer is
correct.

SEEYUT 6 - 121 dflSlies &1 U 9 oSl = 4x7 = 28
Example x 1 4 2  Multiplication of beejank 7,8 = 10—1+0—>1
—— 5~ andits beejank
17182 S
3 hl d[Slleh d[Slleh = 1+7+1+8+2 = 19

Beejank of Answer —31+9=10—>1+0—>1

S 9| & T Stk X fgdia T o1 siishieh) , 9Tt T[Uhel Sl SisTich
= IR T AR 4x7 = 28 aISNeh 1 21 I arstish ot 1 21 o7 : ST T 2

Check : Beejank of (Beejank of first number x beejank of second number)
= beejank of (4x7=28)=1 and answer beejank is also 1. Hence the answer is
correct.

1.3 9T kT STl ol Taf¥r - 383+12

OATHE o1 diSllch X ATSeh ol dislieh + ITHA ol

12 J 383 \31

\YII‘C{ 9 T SSTh

R e

-36
HAYAT 5 = (4><3)+2 23
-12
=12 =
2 14 11 - so%a

5 3W, AU IW|W T 2
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Check method for division : 383 + 12
Check : beejank of divisor = beejank of quotient x beejank of dividend +

remainder

- -36
23
-12
11 =remainder
= (4%3)+2
= 12+2 = 14

5 hence answer is correct




37eATT -2 TR g

Chapter - 2 Multiplication (Ekanyunena Purvena)

2.1 A U= USUT : 30 T 1 TAN 99 FI © ST Teh G 1 3Rl I
o 21 ga o feorfaat € - S TR SR U H -

21 Formula Eknyunena Purvena : this method is used when multiplieris 9,
99,999, ...... This method can be divided into three parts.

(1) i Hemst H i sl e SR 2|

Equal number 9 digit in multiplicand and multiplied.
(2) 9 i ol HE | 3fereh 31 2l

Lesser number 9 digits in multiplicand.

(3) 9 37kl el TE&AT hH &I

Multiplicand with greater number of 9 digits.

IABIOT 1 - AR 63X99
(1) TR HT AT 9FT: Th=A Ja0 G | 63-1 = 62
(2) STAHIIE 9T : 99 - 62

= 6237 37X
Example 1 : Solve 63 x 99
1) Left part of answer using Ekanyunena Purvena formula 63-1 = 62
2) Right part of answer : 99-62 = 37

= 62/37

= 6237

ISTELUT 2 ;- BA Rl 34523%X99999
= 34522/65477
= 3452265477 3™

Example 2 : Solve 34523 x 99999
= 34522/65477
= 3452265477




